
SAP ABAP table JJIBBCX {IS-PAM: Requirement elements  (dat part: cust.exist)}

JJIBBCX

FATBB1 [CHAR (1)]

FATBB2 [CHAR (1)]

FATBB3 [CHAR (1)]

FATBB4 [CHAR (2)]

FATBB5 [CHAR (2)]

FATBB6 [CHAR (4)]

FATBB7 [CHAR (10)]

TJJFA

MANDT [CLNT (3)]

FATBB1 [CHAR (1)]

 JJIBBCX-FATBB1 = TJJFA-FATBB1 
0..N

1

TJJFC

MANDT [CLNT (3)]

FATBB2 [CHAR (1)]
 JJIBBCX-FATBB2 = TJJFC-FATBB2 0..N

1

TJJFE

MANDT [CLNT (3)]

FATBB3 [CHAR (1)] JJIBBCX-FATBB3 = TJJFE-FATBB3 0..N

1
TJJFG

MANDT [CLNT (3)]

FATBB4 [CHAR (2)]

 JJIBBCX-FATBB4 = TJJFG-FATBB4 
0..N1

TJJFI

MANDT [CLNT (3)]

FATBB5 [CHAR (2)]

 JJIBBCX-FATBB5 = TJJFI-FATBB5 

0..N

1

TJJFK

MANDT [CLNT (3)]

FATBB6 [CHAR (4)]

 JJIBBCX-FATBB6 = TJJFK-FATBB6 

0..N

1

TJJFM

MANDT [CLNT (3)]

FATBB7 [CHAR (10)]

 JJIBBCX-FATBB7 = TJJFM-FATBB7 

0..N

1


